p.'ig MOUNTING INSTRUCTIONS
Racing Screerrs
SCREEN ADAPTABLE A
BMW F700GS 12'-14’ Ref.: 6365

Original screws

(—
Df T =0 ]
g SNy
s
oY ¢
\ 227)

o i
1 1

Windshield
o
o

Special screw M5xI3 + interior thread M5x8

@ outer I5 x @ inner 5x4 rubber washer

= L

vy

= e
V & T @

@ outer I8 x @ inner 6,5x1,5 metal washer

M5x16 150 7380 Allen screw

M5x12 150 7380 Allen screw

M5x0,5 Nylon washer

ole 8L |QP

o] ~N )} $)] BN w N
o\ EN N N N N N

M5 150 7380 Screw cap




) ot /- 4

Racing Screers

TYPE WINDSCREEN

TYPE WINDSCREEN E

A

TYPE WINDSCREEN

Note:

If the visor is supplied along with the windscreen, the windscreen will come factory-drilled so no drilling is necessary.

Ref.
Ref.
Ref.

- 6007
: 5852
- 5853

(4
- j
w .~ Easy
1 person 15 min

ID. | PART DESCRIPTION QTY.
1 Visor 1
2 Template 1
3 Multi-adjustable mechanism 2
4 Cap 4
5 Plastic thread fastener M6x12 8




Py

Racing Screers

MU LTI-ADJUSTA:‘B LEAVISOR: -

MOUNTING INSTRUCTIONS

TYPE A

CONTACT SECTION WITH THE WINDSCREEN Use a wood block on the other side.




Py

Racing Screers

MU LTI-ADJUSTA:‘B LEAVISOR: -

MOUNTING INSTRUCTIONS

TYPEB

CONTACT SECTION WITH THE WINDSCREEN Use a wood block on the other side.




) ot /- 4

Racing Screers

MULTI-ADJUSTA;BLIE I@R"__f

. N RS

=
D

Looking for dependable motorcycle windshields & fairings? Rely on Puig for quality and long-lasting products.

O

y)



https://www.motorcycleid.com/windshields-fairings.html
https://www.motorcycleid.com/puig/

